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1. Homework #3: Determining answer and A

1. ldea to determine answer and A

Normalization(Matrix_given, Vector_given, Inverse _matrix, row_max, col max);
Pivoting(Matrix_given, Vector_given, Inverse_matrix, row_max, col max);
Lower(Matrix_given, Vector_given, Inverse_matrix, row_max, col max);
Upper(Matrix_given, Vector_given, Inverse_matrix, row_max, col max);
Normalization(Matrix_given, Vector_given, Inverse _matrix, row_max, col max);

Multiple(Matrix_given, Original, Inverse_matrix, row_max, col max);

Gauss-Jordan
Scaled Partial Pivoting o|-&
-> Normalization, Pivoting,

Lower, Upper #|7{ & Normalization &2 2 25}
(Clle]xz|= L5 I”5rR| of Aufof|A] =]
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1. Homework #3: Determining answer and A

1. Code - body

o
3. Process of main()

Program_explanation() = Get_data() = time &%
> Aialgtols

main()

* Description of Program
1. Info. of Program

{
choice = 1;
clock_t time_start = 9;
clock_t time_end = 9;
exe_time = 0;

Program_explanation();

#define (choice == 1)

{

#include<stdio.h> Program_info();

#tinclude<stdlib.h>
#tinclude<time.h>
#include"Gilwoon.h"

time_start = clock();

Gilwoon.h & X AMSE417_HW3_main.c* AMSE417 HW3_Defalut.c AMSEA17 HW3_Get_data.c AMSE417_HW3_Gauss-Jordan.c

Get_data();

2. Characteristics of Program
- Hhe oft Ml THs
- ARF 2 Ths

- ol Y 7f 71 f4at

- 37[AIgE giZ(malloc ©[-&)

time_end = clock();

exe_time = ( )(time_end - time_start) /
printf("\nexecusion time: %.4f sec\n", exe_time);
PR

printf("Enter ""1"" to do again, Enter any number to exit: ");
scanf("%d", &choice);

}

9;
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1. Homework #3: Determining answer and A

1. Code - body

4. Header

#ifndef _ GILWOON_H__
#tdefine

Program_explanation();
Program_info();

Get _data();
**Inverse_matrix,
**Inverse_matrix,
**Inverse_matrix,

Data_printing(
Normalization(
Pivoting( **Matrix_given,
Lower( **Matrix_given,
Upper( **Matrix_given,
Multiple( **Matrix_given,

**Matrix_given,
**Matrix_given,

*Vector_given,
*Vector_given,
*Vector_given,
*Vector_given,
*Vector_given,
**0Original,

#tendif

ooz AGY

n—

Bopgfet,

>
il

row_max, col_max);
row_max, col_max);

row_max,

**Inverse_matrix, row_max,
**Inverse_matrix, row_max,
**Inverse_matrix, row_max,

col_max);
col_max);
col_max);
col_max);
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1. Homework #3: Determining answer and A

1. Code - body s. Get_datal()

#define

#tinclude<stdio.h>
#tinclude<stdlib.h>
#include "Gilwoon.h"

while (row<row_max)
{while (col<col_max)

{fscanf(Matrix_info, "%1f", &Matrix_given[row][col++]);}
col = 0;

row++; }

void Get data()
{int row = 9;
int col 0;
int i =
int j = 0;
int row_max
int col max

row
col

5 while (row<row_max)

{while (col<col_max)

{Original[row][col] = Matrix_given[row][col++];}
col = 0;

row++; }

S O 1l

0;
0;

FILE *Matrix_info = fopen("Matrix info.txt", "r");
if (Matrix_info == )

{printf("No file, please try again.");

return 0;}

row =
col = 0;

while (row<row_max)

{fscanf(Matrix_info, "%1f", &Vector_given[row++]);}

fscanf(Matrix_info, "%d %d\n", &row_max, &col max);

fclose(Matrix_info);

i=0;

double **Matrix_given = (double**)malloc(sizeof(int*)*row_max);
while (i<row_max)

{Matrix_given[i++] = (double*)malloc(sizeof(int)*col_max);}
i=0;

double **Original = (double**)malloc(sizeof(int*)*row_max);

while (i < row_max)
{while (j < col_max)

hile (i {if (1 == J)

while (i<row_max) _ ) {Inverse_matrix[i][j++] = (double)1.0;}
{Original[i++] = (double*)malloc(sizeof(int)*col_max);} N

1=9; ) ) ) {Inverse_matrix[i][j++] = (double)®.@;}}
double **Inverse_matrix = (double**)malloc(sizeof(int*)*row_max); j = o;

while (i<row_max)
{Inverse_matrix[i++] = (double*)malloc(sizeof(int)*col_max);}
double *Vector_given (double*)malloc(sizeof(int*)*row_max);

i++;}
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1. Homework #3: Determining answer and A

1. Code - body

5. Get_data() (°]o|M) 6. Data_printing

Data_printing(

printf("<Raw data>\n");
Data_printing(Matrix_given, Vector_given, Inverse matrix, row_max, col _max);

Normalization(Matrix_given, Vector_given, Inverse_matrix, row_max, col_max);
Pivoting(Matrix_given, Vector_given, Inverse_matrix, row_max, col_max);
Lower(Matrix_given, Vector_given, Inverse_matrix, row_max, col_max); printf("%f ",
Upper(Matrix_given, Vector_given, Inverse_matrix, row_max, col _max); }
Normalization(Matrix_given, Vector_given, Inverse_matrix, row_max, col_max); printf("%f\n",
J=209;
i++;
Multiple(Matrix_given, Original, Inverse_matrix, row_max, col_max); }
printf("\n");

free(Matrix_given);

printf("%f ", [11[3++]);
}

printf("“\n");

j=0;

i++;

}

printf("“\n");

¥
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1. Homework #3: Determining answer and A

1. Code - body

7. Normalization()

void Normalization(double ** , double *
S , int , int )

{

double max_in_row = 0;

int pivot_row = 0;

int pivot_col = 0;

while (pivot_row <

{

max_in_row = 0;

while (pivot_col < )
{

if (fabs(max_in_row) < fabs(
{

max_in_row =

}

pivot_col++;

}

pivot_col = ©;
while (pivot_col < )

{

[pivot_row][pivot_col]))

[pivot_row][pivot_col];

[pivot_row][pivot_col] /= max_in_row;
[pivot_row][pivot_col++] /= max_in_row;
}
[pivot_row] /= max_in_row;
pivot_col = 0;
pivot_row++;

}

printf("<Normalization>\n");
Data_printing( ,
}

8. Pivoting()

void Pivoting(double **

gk , int

{double max_in_col = ©;

double temp;

int pivot_row = 0;

int pivot_col = 0;

int pivot_row_max = 0;

int pivot_row_temp = 0;

while (pivot_col < - 1)
{max_in_col = 0;

pivot_row_temp = pivot_row;
while (pivot_row_temp <

{if (max_in_col < fabs(
{max_in_col = fabs(
pivot_row_max = pivot_row_temp;
pivot_row_temp++;}

pivot_col = ©;

while (pivot_col < )
{temp = [pivot_row]

[pivot_row][pivot_col] =

)

)
[pivot_row_temp][pivot_col]))

[pivot_row_temp][pivot_col]);
}

[pivot_col];
[pivot_row_max][pivot_col];

[pivot_row_max][pivot_col] = temp;
temp [pivot_row][pivot_col];

[pivot_row][pivot

_col] = [pivot_row_max][pivot_col];

[pivot_row_max][pivot_col++] = temp;}

temp [pivot_row];
[pivot_row] =

[pivot_row_max];

[pivot_row_max] = temp;

pivot_row++;
pivot_col++;}

printf("<Pivoting>\n");
Data_printing(
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1. Homework #3: Determining answer and A

1. Code - body

9. Lower(), Upper()

void Lower(double ** , double ** void Upper(double ** , double **
int , int int , int
{ {
double ratio; double ratio;
int pivot_row = 0; int pivot_row = 0;
int pivot_col = 0; int pivot_col = 0;
int pivot_row_temp = 9; int pivot_row_temp = 9;
pivot_row = 0; while ( - 1 - pivot_row > 0)
pivot_col = 0; {
while (pivot_row < - 1) pivot_row_temp pivot_row + 1;
{
pivot_row_temp = pivot_row + 1; while 1 - pivot_row_temp > )
{
while (pivot_row_temp < ) ratio [ - 1 - pivot_row_temp][ - 1 - pivot_row] /
{ - 1 - pivot_row][ - 1 - pivot_row];
ratio = [pivot_row_temp][pivot_row] / while 1 - pivot_col > -1)
[pivot_row][pivot_row]; {
while (pivot_col < ) 1 - pivot_row_temp][ - 1 - pivot_col] -=
{ 1 - pivot_row][ - 1 - pivot_col] * ratio;
[pivot_row_temp][pivot_col] -= [pivot_row][pivot_col] * - 1 - pivot_row_temp][ - 1 - pivot_col] -=
ratio; 1 - pivot_row][ - 1 - pivot_col] * ratio;
[pivot_row_temp][pivot _col] -= pivot_col++;
[pivot_row][pivot_col] * ratio; }
pivot_col++; [ - pivot_row_temp] -=
} pivot_row] * ratio;
[pivot_row_temp] -= [pivot_row] * ratio; pivot_col = 0;
pivot_col = 0; pivot_row_temp++;
pivot_row_temp++; }
} pivot_row++;
pivot_row++; }
}
printf("<Upper matrix elimination>\n");
printf("<Lower matrix elimination>\n"); Data_printing(
Data_printing( , ; }
}

J




1. Homework #3: Determining answer and A

1. Code - body

10. Multiple()

Multiple(

(11031 *

printf("%f "
}

Jj=260;
i++;
printf("\n"
}
printf("\n"
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1. Homework #3: Determining answer and A

2. Result

1. Round of error?} L= 3%

maEF) #|EE MM

(=22
| |- om0 59, 14 n by n

{|5.297 6.1 :
£9.17 46, '?E1 Matrix
Vector

execusion time:

Solution?| 7% Pivoting2 &3
7ro| 102} 12 A&tstA| LI =
ofzfiel ol 27t HA|= FLoll= &

Matrix_info - O 2 &

A.819589 A.188989
A.816988 -0._88000108

1 .888H8A A .8880EA
—A.888888 1 .AAAAAA

“Mormalization>
1 .00 —-¥.99PPPA 16 .8388888

B.A628 sec

1 .880088 —-8.8808 18 18.8308880
Matrix_info - O 2% A.88008A 1.888008 1 1 .8880084

Solution

Inverse matrix

Proof (should be 1)

Procedure

<Mormalization>
A.000E51 1.999008 1 .8885%87
—A.863132 1.998008 -7 .631321

H.816987 A.080808
—A.800HA -A.163132

<Pivoting>
—A.863132 1.800800 -7.631321
A.09AA051 1.6800A688 1.8680587

—A.80808 -A.163132
H.816987 A.080808

< Lower matrix elimination’
—B.863132 1.0088680 -7.631321
f.000000 1.80085%7 1.8806059

—8.980880 -A.163132
H.016787 —0.808018

<Upper matrix elimination’
—0.863132 A.000008 -8 _ 631321
H.80000A 1 .800A59 1 .800A59

oz #EE M40 H.980A0A 1 .A8080A 1 .880B6EA A AL69R8 —@.163123
kL s
B91700 46,78 i i
1 .H80E0A O .HABEBEA
—0.800800 1 .8088684
®
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1. Homework #3: Determining answer and A

2. Result

2, (k, k)=0%! &<

Normalization -> Pivoting

H.A00008 1 .000008 B.0800081 2.08080804

1.000008 B.00000A A.800081 1 .08086084 I

-7.000660 —A.PPARRA 1.MPA( A8 3 .BEEPRO .
Solution Solution?| 7% Pivotingg2 Sto{ ILSHH2EE 4

@.375000 —B.250000 0.625000 2L [

A.125000 @.250000 —A.125000 :i-ol L|-O = 7{% E—| I_IUE > %%El'.

I 1 1 1 s O T s s s S O T T T s ) FAH|I ©1o| cdgHEd e 1GF A ol 9

A.00AAGA 1.APREAE O.BBARRA pIVOtng'l- J':Z” BA | moEa TaE T moa

A.AANPAA @.ARPAEA 1.AAABRD Proof (should be |) °E|' £ %Eh

execusion time: B.H628 sec

-HINDBA -#INDBA -HINDBB —1 _#INDBB

1.0008A0 6.08ABRE O.BABAAEE 1 1 .A0800A . n = = .HINDBG .HINDBA .HRINDBE —1 .#INDBB
@ .APPBEA 1 .P0OAEE B.PPRAE3 2 . ARAAE6 _#INDBO —1_#IMDBB —1.#INDBB —i . #INDBG
-0 _00ARGER -0 _AEGOPA 1 .00CE B8 3 _AOBOOA

.#INDBO —1_#INDB@ —1.#INDOO |-O-IQ *'"H6|-O=| JF
0.125000 0.250000 —@.125000 -HINF@0 —1.#INDBE —1.HINDBA I-QQ ki o) -5|-0=|I:|-

LocOo2 1L AA .
-0 _S00000 1 _0AAEGERE -8 _S5AR000 — —— A — - L -
. GEOEED 6.9E00EE ©.BREERE .HINDBA —1_HINDBG —1.#IMDB@ = mverse matrlxt 0|'L|E-|E|-_,_
. . - - .#INDBO —1_#INDBA —1.H#INDDO ol=
0.000000 1.000000 B.0P0ORO = |'7 | -|—|UH '| = plvotlng
P.ABEREE 0. 0EEEG0 1 .AEREGR A olr
execusion time: B.8720 T AA .
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1. Homework #3: Determining answer and A

2. Result

o
3.4 by43id
1 .AAEERR ©.PAPPPRG 0.PPPPER 0. APEEED —1 .AREEOO
A.AAEARR 1.PAAPOGG 0.PPPERA 0. 0REEEE 2 .ARBOOO 2 s - s 2
_ A.PAEERR ©.PAPPPAG 1 _0PPERA 0. 0EEEPD A.ARREOO PIVOtmg > Normalization
[ ) matrixinfo - B2z A .AEERR0 —A.APPARR —0.PPARAA 1000 198 1 .AAEE6O
D Sl | 200" 0 ovizs 0333035 0.1ae7 Solution2] 73 377t #|Hfake ol FHoH
t 12 } 9131 N by N 0.9PAERA —@.333333 ©.333333 ©.333333 L|-_C,>_% 7}1'% E—II-OI_IUEI- ‘JI\‘ %%El'.
| §1_12 51_:12 Matrix A.384615 -0.238769 0.00POAA —0_076923 Inverse matrix 5':_‘_.7_" 76'%% EH'E 7E=|J—_,_|_ ;gli—!'ﬁl'}” 7:”
41 -34 1 .AEGE00 ©.ARPPEE 0. 0EPPEA 0. 00RO A LS5O oF A O|od
Vector A.PAGG00 1.PRARPOE -0 _0EPPEA -0 . 00EEOR '—I-Ol 7|-° o2 2 T MMEl-'
-9 .00EER —A.APOOG0 1.0PPEAA 0. 00EEOR

H.88HEEE —A.B0BEBE -A.AHRERA 1 .A0B0AEA

execusion time: B.68938 sec
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1. Homework #3: Determining answer and A

2. Result

4. Determinant = 0

Matrix_info_ - 0| 2]

o) BEE M

I'u'.'.l

n by n
Matrix I
Vector

2
1
1
2

My ——"J

< Lower matrix eliminationZ
1.880000 1 .6000000 2 .008808
A.AA0AAE @.A00AEA H.A0REBA

1. 8008008 @ . 0BHRA
—1.8H80888 1 . AWHBAA

“Upper matrix elimination
—1 . #INDBA -1 _#INDBH —1 .H#HINDBA
A.A0AA0 @.000A0A O.A0RABA

1.#INFAA —1 _#INFBA
—1.8H80888 1 . AWHBAA

“Hormalization>
—1 . #INDBA —1.HINDAH —1.HIWMDHA
—1 . #INDBA —1.HINDOB —1.HIMDOA

1.#INFAA —1 _#INFBA
—1.#INFBAA 1.#INFBHA

—1.#INDBA —1.#INDBA
—1.#INDEA -1 .H#INDHA

execusion time: B.B620 sec

Pivoting -> Normalization

Diagonal element?} o{EA| sz 00| &= 3%
LFEFSLCE.

Z o|xA| pivotingol| & &5t1 lower, upper
matrix2| AAF Zafol|A 022 Lie+ of[217f L=
AZ 2Igh 742 determinant?} 042 &eIE 4 3l
oo, o] 3§ 2 a7t g2, 45| H22E 2
A ArtollofRk St

(EA| A4E Ao b o FA| E[=2] ERl5t7| ¢Iste] &

Ha] do|]x{2|& &}x| Sfor&L|ct)
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1. Homework #3: Determining answer and A

3. Conclusion

* Problem answer
Determinant?} 00| E|l= 742E z{|2|ot 1=

= a1 IGF A O]O G C GF A O|O
S d8H2R 7Y o UNlen, Ay AP BEHE F T 4+ AU

r
V)
O
Q.
D
o
-0
Q
Y
—,
Q.
J
<
®
=,
D)

Q

ujo

O

o
di

T

O

N

0

r|n

=
<
D
Y

(Va)]
D
S

Q

r—'—
.

<

“wo] 4. (g4, AZH Bl _
1) n by n matrix2| 37|17} #HZX|H HA & AAF 5]
2) 1ZECHEA 2L A7 Ujol| 262 Pote HE Tl

HA =2 - A —
3) Determinant?| 00| &|=10 by 10& A4 oo A2
= U 4 QUAEL vt o o Eot= YeEfl

ZletgaHo s sold Ao s o=t (2, 3, 421 3

Gauss-Jordan, Scaled Partial Pivoting, 4]-24.
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